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2.1

(z, y, 2)
o grado = Vo = 00 +g—§ + 20
OdivA:v.A:‘?A«/ 04,  0A,
dy 0z
o= va= (e OAY g (Oh DA (00 OA
« ) (r, @, 2) 7 ¢ %
-grdd¢—a—¢”+lg—i¢+%z
.de_v-A:%%(,«AT) %%:;Jra;z
(r, 0, 9) 7 6 ¢
o grado = Vo= 05+ 199 mlneg_j
OdivA:V.A,%aﬁ( AT)+TSlln080(Agsm )+rsi1n9%
orotA:VxA:m[aae(A Sln9)7%]r”+%[ﬁ%,%“4}
+- {%(Me) 8;;
2
* VQQS:T%E( gf>+r2slin9%<smeg—?)+mg_j;

ot

2.2

(1) Vigp) = ¢V = Vo

(2) V- (pA)=¢V-A+A-Vo

3) Vx (¢A)=Vox A+ ¢V X A

(4) V(V¢) =0

(5) V- (VxA) =0 0
(6) V- (AxB)=B-VxA—A-VB

(

(

(

7) Ax(BxC)=(A-C)B—- (A B)C 0

8) Vx(AxB)=AV-B-BV-A+(B-V)A—(A-V)B
9) V(A B) = A x
(10) V- (V) = V- V¢ = V¢ 0
(11) V x (V x A) = V(V-A) — V2A 0 (

2.3

VxB=punpJ
. X o +u£8t

24

°
&=
I
|
|
<
<

(VxB)+Bx(VxA)+(B-V)A+(A-V)B

1)

111)



2 ( )
3
4
5
6 a = (az, ay, a) b = (bs, by, b.)
(a-V)b
(
e Yy =z i gk
er y z €x €y €z
. (1) (2) 3)
N




7 A B A-B
= a = (az, ay, a) b= (bz, by, b.) (1) A=(2,4,6), B=(1,-3,2) (2) A=(1,1,0), B=(0,1,3)
a-b (a, b) (3) A=(1,0,2), B=(1,2,3) (4) A=(1,0,0), B=(0,1,0)
(5) A=(0,2,1), B=(1,2,1) (6) A=(3,1,2), B=(1,0,1)
a-b= (az7 ay, az) o (b17 by» bz) = a,by +ayby +a.b, = |a||b| cos @ (1) (7) A= (2’27 1)7 B = (17270) (8) A= (1, 170)’ B = (1’273)
[ a b 8
1 a b (A1By + AyBy + A3Bs)? < (A% + A2 + A2)(B? + B2 + B2)
b () 0=0 (@ b )
a-b=ab =3 (@ b ) a-b=0 9 A=(246) B=(1,-32) 0
10 A = (2737 _1) B= (17072)
1:
A B A-B
(1) A = (27171)’ B = (07173) (2) A = (171:1)7 B = (_172:1)
= (1)
(1) A-B=2x1+1x1+1x3=0+1+3=4 . \al|b| cos 6
(2) A-B=1x(-1)+1x2+1x1=-14+2+1=2 .
° 0




] a = (az, ay, az) b= (bs, by, )

axb
ax b= (az, ay, a,) X (by, by, b.) = (ayb, — azby, aby — azb., azby, — ayby)

(2)

axb=|a, ay a,

be by b

axb 4 a b

(absinB) 0=0 (@ b

axb=0 e:g (@ b ) laxb|=ab

axb a b

axb

A B AXxB
(1) A=(2,1,1), B=(0,1,3)  (2) A=(1,1,1), B=(-1,2,1)

(2)

(1) Ax B=(2,1,1) x (0,1,3) = (2,—6,2).
AxB=(1,1,1) x (-1,2,1) = (=1, -2,3).

11

(2)

13 A=(2,1,1)

14

15 A=(1,2,-3), B=(2,-1,1)
(a) Ax (BxC)
(b) (Ax B)xC

16 14

A B AxB
=(1,-3,2) (2) A=(1,1,0), B=(0,1,3)
=(1,2,3) (4) A=(1,0,0), B=(0,1,0)
=(1,2,1) (6) A=(3,1,2), B=(1,0,1)
a b
B =(1,-1,2)

Ax(BxC)=(A-C)B-(A-B)C

C=(-1,1,-1)
14

(AxB)xC=(A-C)B—(B-C)A

(AxB)xC=(A-C)B—(B-C)A

0
la||b|sinf(=a b )

12




17
n
18 r P A(r)
. C ) ()
19 a=(2 1,0
] 1
20
= (z, ¥, 2) oz, y, 2)
(2, y, 2) Flz, y, 2) Ax(BxC)=(A-C)B-(A-B)C
n V( )
( ) Vx(VxA)=V(V-A)-VA
s
o 9 0
1) 88 88
U = (Ug, Uy, Uz)
(u-V)u
n
o 0 0
= [(uzv Uy, uz) : (% a_y» &)] (uzv Uy uz)
— £+ 34, 2 ( )
= (ug; “yay Uz g ) (Uay Uy, s .
= U%Jruaueru% U%Jru Bueruauy U%Jru 8u2+u8uz ¢
T\ oz Y oy R Y oy 20z " 0x Y oy ® 0z .
u-V#V-u .
0 ( )

13 14



oz, y, 2)
Vo grad ¢
_ _0¢, 00, 0¢
Vo gradqﬁ—a +6y9+8 k
V(ep) = Vo
V(p+1)=Vo+Vy
V(gy) = ¢V + 9V
¢ c
o(x,y,2) = 2% + y* + 22 P(1, 1, 0) Q(2, 1, 1)
2 2 4, .
vo= 2@ Ty ) 8(12+y2+z2)j+ Aa*+y*+2%)
ox dy Jz
=2zt + 2yj + 2zk
(11,0 (21, 1) P 22,00 Q 4, 2, 2)
43

21

22 ¢ =322 —yz
Vo
(5)
23 p=r=|r|= (2?2 + 9% +22)/2 Vo
24 ¢ = ¢(z,y,2) Vo -dr =d¢
©) 25 r = |r| = (22 +y> +22)1/? n
(7)
®) ]
26 —10exp (- %
Y 1
2, .2
27 z-lOexp(—x ty )
4
24,2
28 zfloexp(—r Iy ) z
Ty z 2 4 6 8
2, .2
29 z—lOexp(—I Iy ) (x
)

(8)

grad

(1,-1,1)

V() v(1/r)

16



n (divgergence : )

. . L 1
d1vA—V~A—Al‘1/IEOA—V/SA~dS (9)

0A, 0A, 0A.

A= - 1
v Jx dy 0z (10)
2
0A, 0A
V-A= 5% T a—yy (11)
(grad) (rot)
(1) A =azyzi+ 2%y%25 + y2°k
(2) A =22%2i — ay?zj + 3yz°k
(3) A =32%yi —2y32%j +xy?zk
L] (10)
O(xyz)  O(z%y%2)  O(yz?) 5 N
1 = - - - = 2
(1) v B + By + 92 yz + 2z°yz + 3yz
0(2z%2)  O(—zy?2)  O(3yz®)
2 A= = 4dxz — 217
(2) V o + ay + 9 vz — 2zyz + 6yz
2 073.2 2
(3) V-A— 9(3z%y) n A(—2y°2%) 4 O(zy?z) — 6y — 64222 + 1y
ox dy 0z

17

30 f=(z—y)it+(y—2)j+(z—2)k
V-f,V-g

31 f = 3xyz?i + 22935 — 2%yzk

32 -y

L) z )
33 32 A
34 32 A
33

g = (2% +y2)i+(y2+22)j + (22 +ay)k

(1,-1,1) V-f

div

18



L (rotation)

rot A=V X A =Ny, lim ! /A~dr
C

AS—»OA_S
1
AS
L (0A, 0A,\ . (DA, OA\ . (04, 0A,
VXA‘(ay az)”(az 8:)3) +<Bm

(grad)

(1) A =zyzi+ 22y%25 + y2°k
(2 A=(z—y)i+t(y-2)j+(z-2)k

(1) VxA=(2-222)i+2yj + (22y%z — 22)k
(2) VxA=i+j+k

19

(.

35 r=(z,y,z2) Vxr
36 f = (wvyz, 2%y%2,y2%) VX f
37 f=(z—y)i+(y—2)j+(z—a)k g = (2®+yz)i+(y*+za)j + (2> +ay)k

V-f,VXf,va,VXg

38 ¢ =322 —yz f =3xyz%i+22y%) —2yzk (1,-1,1)

() Vo (b)) V-f () Vxf (d) £V (e) V-(of) () Vx(of) () VZo

39 b V x (Vé) =0
40 f V- (Vxf)=0

41 f=—yi+xj+zk g=3wyz%i+2xy%5 — 2%yzk ¢ =uzyz

42 f = f(z,y,2,t) dr = dxi + dyj + dzk
_ of
df = (dr-V)f + Srdt
43 V- (¢f)=¢V -f+f Ve
44 VX (¢f) =V x f+ (Vo) x f=¢V X f—fxVo

45 f = (22,2%,7) ¢ = 22%y?22 (1,-1,1) (f x V)

46 c cf =Vo fVxf=0

rot

20
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47
_ R
or or
1) I oy
or or
9 il il
()
dx Oy
s t
(4)
Mz=4+22 44> (2 a(z > 0)
48 ds
n
n
1
=5, y=t, z=4+2>+y> =4+5> 4+ ) y Y
Ozy z
r(s, t) =si+tj+ 4+ +t))k
(2) 22 +y2+ 22 =a? 2z = /a2 — 22 —y? r=s5 y=t

z=+Va?— s? —t2

r(s, t) =st+tj +Va? —s2—t2k



10

T=a =0 Yy
n
Az
Aazfa_b
n
0
Az
i T
x7:a+aibi

Az

n

f(a+a—b_1)a—b+f<a+a—b.2)a—b+“_
n n n

23

-~

a—b Na-b» a—>b
- fla+ X 4 +o-+fla+ X1
n n

n

)

Zf(a+a;b><i)a;b:Zf(aJrAxxi)Ax

i=1

n b
nlLH;OZf(a+ Az x i) Az = / f(z)dx
i=1 a

24




11

]
8

c (0, 0) (1, 1)

/(;v2+y2)ds
c
L] c
r=t, y=t 0<t<1
() s
s =2t
ds = v/2dt

o o, [ e _@
/C(a: +y)ds—/0(t + ) Vad = 7

25

49 flo,y)=2z=a%+92
1)
(2) e (0,0 (1,1 )
(3) s ¢
(4) gx) x=a x=D L( )
50 2= f(z, y) =x(y+1)°
/ x(y +1)%ds
Jo
c (x-1)2+y*=1 (0, 0) (1, 1)
1) c
(2) C (z, v) 0
3)
51 flo,y) =2 =22 + 92 C
22+ =1
/ (2® + y?)ds
c
0O
° (23 )

26



52 R p r

S ¥ M M
23
( M o(r)
S (n 2 o r+dr ds
AS P (3 r rtdr M
(4) M
AS
53 ¥
tiw 3 (P)AS = [ 1(P)ds T ) = T T
n—oo i . S
S:a?+y?+z2=4, 2>0
0
zy xy
" 1
I:/S(x2—3xy)d5’ S:1<x<2, ESySQ /...d;vdy
0O 22 48
2 2 2 3
I:/Id:r/ x—3ydyz/x(2¢—7+—)da¢
1 1/1( ) 1 22
3 35
=3 log2 — >
[ ]
. (23 )

27 28
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54 R p(x, y, 2)
n g
* / plz, y, z)dV
R
AV
55 n(x, y, z)
oz, y, 2) R
/ Pz, y, 2)dV 56 R r
R
r
p(r) = po (1 - E)
dV = dxdydz M
3 =1 R 1% (1)
(2) ror4dr v
(3) r  r4dr dM
(4) M

/(x+y+z)dxdydz, Vie>0, y>0, 2>0, z+y+z2<1
v

1 11—z l—xz—y 1
I= / dx/ dy/ (x +y+ 2)dzdydz = =
Jo Jo Jo 8

. (23

29 30



14

A-de
C
c C )
A de
. C
. de = |de|
de A 0

A-de=|A|dlcosb

C

ae

f=xi+2yj+zk

/Cf'dr

c (0, 0,0 (1,1, 1)

] C r=ti+tj+tk
dr = dti + dtj + dtk

f o f=ti+2j+tk

1 1
/fdr:/ (t+2t+t)dt:/ Atdt =2
. 0 JOo

31

57

(1) de c
(2) de A

58 C

(2) (z, y)
(3) (. y)

4) A C

59

1) Ty

(2) c zy

e = |de|

zy

d¢

60°
de

de

C

|A] = A

32
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ds

. ds =|dS|

/A~dS
s

ds A

f=0i+0j+2k

S

Lf~dS

®3)

dS = dSk

f-dS = 2dS = 2dzdy

33

2 2

2//dq:dy=8
JO JO
f

(4)

60

61 r

2a

513

f=ai+yj+2:k S

Lfds

ndS =dS
ds

224y’ =1-2z

A
1r
A=p=T
r2r
lr| =r k
ds
A
A-dS

/A~dS
s

/A~dS
s

34

k>0



62

63 r

64 V

rf=r

65

ds
S
/r-dSzSV
s
S
1 r-dS
/Vﬁdv_/s .
S A

/S(VXA)-dS:O

36
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C S A S
/VxA-dS:/A-dl
S C
oB oE
VXE:—E, VXB:,LL()J-‘F,LL()EOE

/VXE‘dS:f/afB~dS
s s Ot

)
a/ 0P
E-dd=-—— | B-dS=-"
/C ot Js ot

37

66
C
de
67 r=xt+yj+zk
/r-dr:O
c
68
/V¢~dr:0
e,
69 B
‘I):/B~dS
s
A
B=VxA
(0]
[ ]
[ ]
38



18 1

(20)

d
d ﬁ_f(x7/y)
fle,y) =y
flz,y)  f(2) dz
dy = f(x)dz
/ydy:/f(:v)dfr
y=F(z)+C
C
Ly =2z+1(x=0 y=1)
m
/7dy7
y7%72x+1

dy = 2z + 1)dx

/dyz/(2x+1)da:+C’:x2+x+C

C=1 y=x>+z+1

39

dv
F=m—
m i
70 0 m t=0
t g
71 [ t=20
g
(1)t
(2) t
3) 2
(4) v’
72 h m i)
(.
40



| ]
[\

ay” +by' +cy=0

’_ @ n_ APy

v= dx v= da?
_
\ o —b+ Vb2 — 4ac
- 2a
i) b2 — 4ac 7é 0 2 )\1 )\2()\1 7é )\2)

i)-1. b2 —4ac >0

C1,Cs
i)-2. b2 —4dac <0 AL A2

A A2 =—ptiw 1y, w

1 i2=-1

Y= Cle—p,a:+iwa: + Cze—uz—iww — e h® (Cle+iwz + C2e—iww)

eiz + e—iz . eiz _ e—iz
COSz2 = ——m— sing = ———
2 ’ 27

A B (A=Cl+02, B=i(Cl—CQ))

ii) b2 —4dac =0 A
d a2
73 (y’=ﬁ, y”:d_;é )
1)y +9y=0 (2) y" =5y +6y=0
(3)y" =6y +9y=0 (4) y" +4y' +5y=0
(B)y" =3y +2y=0 (6) y" =3y =0
(N y"+4y' +4y=0 ®)y"+2y +2y=0
74 k
d?y 5
w-ﬁ-ky:()
d d
(1) z=0 y=h F£=0  (2z=0 y=0 L=u
[ ]
. 3
42
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(26)

- fl, y, ) z
hmf(r'i_hv yv"')_f(xv Y, )
h—0 h
T
[z ( )
of
%7 f:c
x f
)
2 f(x, y)
_ 0f(=, y) of (z, y)
df (z, y) = o dr + ay dy
1) f=2"+y* (y ) 2)f=a*+a? (a )
ANz* +y*) d(a* + 2?)
L] (1) oy =2 (2) 7a =2a
43

75 u AU = Upg + Uyy =0

x
T Quslg /@S

76 z=f(z, y)=4—a%—y?

2<r<2 —2<y<2

Ugz

44



7T y=f(x) r=a y f(a) r=a+Ax

d .
flz) z=a( ) f(a+AJ)=f(a)+%A”
s L@ o T@ e IP@
@)= fla)+ 1! (z—a)+ 2! (z—a)"+ n! (@=—a)"+ @7) 78 f(z)=cosz g(z)=(1+2z)* z=a
r=a f(@) 79 a < b
Tz =a+Ax f(z) = fla+ Ax) (1) a+0 (a2 +b2)1/2
f(@) = fla+ Az) r=a fla)
80 T 0
[ j ORVET (2) 11” (3) sinx(x )
f(x)=sinz x=0
(27) T=a
f(x):Sina-&—cosa(xia)—sina(mg!a)z—cosa(r;!a)3+~~~ (lixiiiiij? i:()
a=0 sinf = 46, 0~0
fay=r- b cos0 =1
tand =6, 0~0
|z| < 1 x? 0
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n
-1 i a a+ b
e = cos + isin 6 (28)
EO w E
n E[)eiwt
Ep(coswt + i sinwt)
FEycoswt
[} FEq coswt

47

81

82 ¢

83 Vi

84 e

cos 6

85

sinh 76

sinf cos@
cos 6 sin @
=10
sin (
sinhxz coshx
) et — e~ e + e 7
sinhe = ———, coshex = ———

cosh i

48



23
86 z A k w
n
87 E(r, t)
E(r, t) = Eexpi(k-r —wt)
_ k
! 88
OFE
_ veEmm g
0B
VxE= T
_ .
_
[ (30) o(z, t) = Asin(kx — wt) ]
n
= —Ak? sin(kzx — wt), = —vizsz sin(kz — wt)
L]
o=
=5 4

49 50



